
  
 

 
   

             
  

 

 
 
 
  

   
            

               
 

           
             

 
 

           
         

 

Let’s Practice! 

Step 1: Problem Identification 
Is Tier 1 instruction sufficient for all subgroups of students? Review the data below and discuss 
your rationale. 

Step 2: Problem Analysis 
The team generated multiple educated guesses or “hypotheses” across the domains of instruction, 
curriculum, environment, and learner. Review the hypothesis below and respond to the questions that follow. 

Hypothesis #1 (Instruction): A lower percentage of students with disabilities are meeting grade level 
expectations in reading because small group differentiation during Tier 1 instruction does not occur as it 
should. 

a. Which method(s) could they use? Review, Interview, Observe, or Test 
b. What specifically will they need to determine? 



  
           

 
 
 
 
 
 
 
 

   
 
 

Step 3: Intervention Design 
Complete the “Support” section of the Comprehensive Intervention Plan 

How might the 6th 
grade teachers be 

supported? 



     
           

 
              

  
 

   
    

  
  

 
 

         
 
 

        

Step 4: Response to Intervention/Evaluation 
Use the decision rules to determine the students’ response to intervention. 

Goal statement: At least 70% of 6th grade SWDs will score at or above the 55th percentile on the 
winter screener. 

Decision Rules: 
Positive response: ³ 67% 
Questionable: 51-66% 
Poor: £ 50% 

1. Was the students’ response positive, questionable or poor? 

2. What next steps would you recommend for the team? 


